ZIERADFE NOEREINE. RE1 -1

D RFEINE. HiE

NO.1 I /6 =
n RONZERGEICURELN,

Q) ( x + 4) 2 — (. x —2)( x + 8)

@ ( x =5)C x —3) + x ( x — 4)

® ( x —06)( x +4) +( x —7)( x — 2)

@ (x—8)(x+6)—(x—4)2

® ( x — 3 ) ( X + 3 ) + 2( X + 6) ( x — 4)
® 2( x +4)2 — ( x —5)2
P THEISPEEETY VN

http://chugaku.manabihiroba.net/ 1



ZIERDHE

® x ¢ — 8 b

= 2 x 2 — 12
® x ¢ — 2 b

= 2 x 2 = 11
@ x 2 — 2 x

= x 2 — 2 b

= 6 x — 64
® x 2 — 9 4+ 2

= x 2 — 9 4+ 2

= 3 x 2 + 4

ERTEZZPREZETU VN
http://chugaku.manabihiroba.net/

NOEREINE. RE1 -1

9) X — 16 )
b'e + 16
b
X + 14

b'e — 16
— 24)
48
2 — 10 X + 25)
10 x — 25



